Autoevaluacion: Operaciones con potencias Hoja 1

| Opera y expresa el resultado como una unica potencia:

(—12°+(-8)*-5°+2%=(-12+(-3)5+2)°=10°
4T+ (4P =47 +42=47"2=4°
2°:(-2)*=2°-2%=2°"4=2"

(-9’ =(-9)° *= (-9 =¢*

(@)% °=334°=3%

25 . (_2)3 +25 . ((_2)3)2 = 25—5 . (_2)3 . (_2)6 = 20 . (_2)3'2 =1 .(_2)6 = 26

(=5)%- (=5)% + (52 (=5)%)2 = (=5)° *3 + 52 (=5)3 2 = (—5)12 + 52 (—5)8 = 512 + 52.56 = 512-2+6 =
516

((_3)4)3+(_33)2_32= (_3)4'3+(_36)_32= (_3)12+(_36)_32= (_3)12—6_32= (_3)6_32=36_32
=36+2=38



